H & 0l & AHS B Ml A

A&
2 FIZ2(NELER/EE)
Ne & SHEEZ AL (SH9 H2)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
59,099,570 62,498,471 3,398,901
Xl 1,000,000
T 2,203,000
Al 55,461,499
= 435,071
S (NELER/EZ) 27,540,545 23,971,981 3,568,564
Xl 1,000,000
& 655,000
Al 25,885,545
MNE 2 sHEEZZ AtY 27,069,097 23,133,454 3,935,643
Xl 1,000,000
& 655,000
Al 25,414,097
S2F| 5,99, 175 7,100,000 A 1,103,825
401 A& B2 20HY| 5,9%,175 7,100,000 21,103,825
01 Al&HI 5,968,635 7,071,920 1,108,285
Oz E2HY DIK=EX FHHI=)
100,000,000 14 100,000
OOt ™ chE=12|(2I 2088 ) T2 XS A}
Jl2 o AAEH 8
50,000,000 14! 50,000
OEEZRERL &8 Hsu-2xu(2E73)
CRETHDA
1,500,000,0002 *141%99.64% 1,494,600
O0IMtH MEP|~KS2(2E108) =2 8L &
ZAl 1,000,000,0003 *141%99.37% 993,700
O0|atH Ea2e(ZE118)R3EE e
500,000,000& *141%99.28% 496,400
O+ UHUS(ANTIS) 28X E T
At 600,000,000 *141%99. 37% 5%,220
OUEE~NHEZHZE3E) ST2EHEHS A
347,795,000 * 14! 347,795
O&+H FHR(ZEHaE ) HE MBS AL
900, 000,000& *141%99.37% 894,330
OLUdE N8 HXSA
700,000,000 *141%99. 37% 695,590
OAU~NR( XL EI3HE ) 2 E LB A
300,000,000& * 14! 300,000
03 Al CHHI 27,540 28,080 AB40
O0|8tH MNP |~-XS2(2E108) E2&L
A 1,000,000, 000& *141%0.63% 6,300
O0|atH EA22(Z2E118)R3E2 e
500,000, 0002 *141%0.72% 3,600
OCEERERENEE Hsu-221(2573)
CRHTEHTA
1,500,000, 000& *141*0. 36% 5,400




SN AL
M £2 RUB(LEYSR/E2)
SR AR H SHEZZ AY (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OZ+HDUHUS(NES)T2HEET
N 600,000, 0002 *141+0. 36% 2,160
OF40 SHR(ZE55H ) MEIHSZAF
900,000, 00024 *141%0.63% 5,670
ONSS DD HHMSA
700,000, 0002 %141%0.63% 4,410
2 |NEs 12,749,921 6,936,315 5,813,606
201 Ler2 | 1,007,921 1,002,001 5,920
01 AlR2218 27,327 29,689 12,362
OEZE4 AR 29|
250,000 128 3,000
ON&=Y Z2
9,0002x222 2415222 8,712
O+=22 II=H ¥ DI 15,615
—Eo= 10,0002 158 1,500
—gEte 100,000 15 1,500
—OHEI X)) 20,0002 %152 300
—=ei5) 50,0002 % 152 750
—=Q 15,0002 % 15 225
—2kAll| 3,000 *15F*21 L 128 11,340
®2 2222t 980,504 972,312 8,282
OE2 |4 B2e2 774,600
—JIRS Y BoE MIIQ3
60,000, 0008 * 1284 720,000
—JIZS MOAAE SM23
5,000 #1500 A 1284 9,000
—9Fn JAS L RS HIIe3
300,000 128 3,600
—XIBIRIE LAeHEIAE MIIS(28,Y
F.8 8 2N E)
150,0008! * 122 #4 7] 2 7,200
—XSHRE L S2YA ZYS HIQI
1,000,0002!* 128 12,000
—H&, 224 S8 2| L ML
2 s sAea 300,000 128 3,600
—SAAK L S0IHEE BPAAL SA
23 850,0002!» 128 10,200
— IS HA2AFR HI| L OV sS4
400,0008!* 1284 4,800
—XBIRE 20| |xze L 323
30,0002 128 4,200
OE2242 Il L ALED KX 8,190
—&I|, +=23 30,0002+ 128 4,200
—HSE HA 60,0002 <4CH 240
— 201 AlAE AlRE
200,000 128 2,400




SA AL
JA: 52 SAAU(LSLER/ER)
SR A R SHEEZ ALY (SH9 H2)
BB S9I(EH) - HRAR - BaS A HIDEZ
—Co14 el
1,350& x102| & 100 1,350
OS2248 22 2 5| | 68,500
—HLSAFT KNS
5,500,000 *5IH 2 27,500
—H&0l 500,000 ~6CH 3,000
— Qe 1,500,000 *3CH 4,500
—=4J| 10,000, 0002 +2CH 20,000
—AJ|20H 10,000, 0002 1CH 10,000
—0lIF1 500,000 ~6CH 3,000
—UNE 500,000 1CH 500
Okz2+2 XU KA 129,304
—EZEH 43,180
== 1,510 x3002| &1 *30 L +2CH 27,180
- =2l & iy 8,000,000 ~2CH 16,000
—CHIEA 35,180
- wEU 1,510&+3002| EA+60 2+ 1CH 27,180
-&cl € &8 8,000,000 1CH 8,000
—3=E4 50,944
- RRU(EER)
1,5102+602| B+ 1202 +2CH 21,744
F=U(LPG)
1,0502 %1002 | B 1202 +2CH 25,200
- =2l & FHlH| 1,000,000 4CH 4,000
206 MH=HI 246,950 302,950 /56,000
01 =4l 246,950 302,950 56,000
OEZ2RANE MM € &+ +¢ 246,950
—=ot= 15,0002 %1,500%% 22,500
— b ==2+(300mm) 70,0002 *30= 2,100
—PEEH™ 20,000 »200K 4,000
— 2 APPELH 2002 %60,000& 12,000
—Z3Es 450,000 350 157,500
-4 150,000 x100= 15,000
—BrAHE 150,000 *40H 6,000
—OIA2(ES) 110,000& 50E 5,500
—228H 35,0002 *30H 1,050
—N&J| NRee 400,000 307K 12,000
—C2EE SO & &2
300,000& * 128 3,600
— YA EX|E 70,0003 * 107K 700
—S2HEIE 100,000 +50H 5,000
301 LeENZ 2,250 2,250
11 #AIMHIXIE S 2,250 2,250




SN AL
A C2 RAUAL(WELEFR/ER)
SR A R SHEEZ ALY (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
N SNERICEEE]
150,0002 x 15 *13] 2,250
302 OI=H o2 a= 73,800 114,114 A40,314
02 QI SRS 2= 73,800 114,114 A40,314
ONMgxg g2t 23h] 73,800
~HEXY SAX 24
9,0002 *100E «15& 13,500
—HExY sSAFHI(HEI]) *FH
1,5102 *100CH* 15 202 | & 45,300
—HNEXAE EAH 2 I
150,000 *100CH 15,000
305 e =S 11,000 2,000 9,000
01 =S 11,000 2,000 9,000
OEZAIE ItE, 2d S8 =8 & o &
/B &l 10,000,000& * 14| 10,000
OAsHZN OE RL0ISS(MER)XS(
hRRIZEE QS XIR 2009LH39%5)
1,000,0002 %14 1,000
401 AIZHIX S0HH 11,316,000 5,401,000 5,915,000
01 AlZH| 11,009,280 4,986,49% 6,022,785
OAEHE D KA+ 20,000
—THHED A& ST
20,000,000& *14{ 20,000
OXIBIRE BI+HIR STz2(28 85,
R N=) 5,000,000 *47H 2= 20,000
ORAA Ji= 2 oS WM M (FRIFA
&) 250,000,000 *14] 250,000
OgaY O0t2 e AXI(FeE0uA)
10,000,000& * 14! 10,000
O=2& AU E2HMAIE XA
100,000,000 *14] 100,000
OANE ¥ SHEEZ MH 2523 AM
20,000, 000& *40JH 2~+99.37/100 794,960
OANZE ¥ sHEEZ 57 2SEHIEAM
20,000,000& 4001 2A+99.37/100 794,960
OusSAHIALE WM & AREX(SASE
=M, SHEXY, HdRHS, SLE2U S)
250,000,000 x 14 250,000
OAISYE UdAdE 328, J)I188 &
E 700,000,000 * 14 700,000
020258 AISE HEAEE ItEn 8585t
= 120,000,000 * 14! 120,000
020258 ASE HWHYAMES GatFn Lt
A =299 120,000,000 *14] 120,000
OAISE AldE d)| & J28Z200 T
g E3AHEN) 50,000,000& »14! 50,000
o204 FLAHBH0 HE S0 2=
dSA 150,000,000 * 14! 150,000




2H: HED
M C2 RAU2N(RELESF/E2)
2Rl A 2 SHEZZE A (S &S
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
O2718 =&c| 272 /A WE HXNSA
500,000,000+ 141%99,28/100 496,400
OS5 AHHAIAEl =& XIS A
200,000,000 14 200,000
OJtes R &2 SZEIA
300,000,000 =14 300,000
O3J18 7111 o1& &AXISA
350,000,000& * 14! 350,000
O2% U S0ECR a8 oA
160,000 *250m 40,000
OANE ¥ SHEZZ 28+
5,000,000& *807H A~x99.28/100 397,120
OAIIIR ZZ M LI| BA
2,000,0002*150a*99.28/100 297,840
OAIMK E22d oM =32
300,000,000 14! 300,000
Ot ¥ sHEEZ s XE 4X & M
=y 160,000
— &4 700,000 * 10070 2 70,000
—TH A 450,000 x2000H 2~ 90,000
Ozt ¥ sHEEZE T EX|E |
1,250,000& *807H 2 100,000
O=ZAHA tNMEH 29
50,000,000 14! 50,000
OZtUH nSEEAL
15,000,000 14| 15,000
OERFHel =8 ZEATUNRI|ZA
300,000,000 14 300,000
OXOEICIZE X AT RNATZ FHAGMY
SIS A 150,000,000 * 14! 150,000
OBEYUR X0 BAGNSI|BA
100,000,000 * 14 100,000
O&x=H BI22|(2E1bad) STRHBISA
250,000,000 14 250,000
O& =0 BIR2|(HZ1015)0tAE AM 2|
A 100,000,000 * 14 100,000
O24+H 32(2&78H) AIHEUISBAL
100,000,000 14! 100,000
OCIXNE E232 22HH =8 249
500,000,000 14 500,000
OLFE OPIHOIEE 012 BATMSI|Z
At 50,000,000 14! 50,000
OZaH 2ds2l(elz206ad) otAE AN
JIZA 120,000,000 * 14 120,000
O=&H Xs2(sT1ad) otAE IR
JIBA 100,000,000 * 14 100,000
OJIEs Hely el HASMNRI|SAt
100,000,000 * 14 100,000




A A4t
JA: 52 SAAU(LSLER/ER)
2Rl A 2 SHEZZE A (SH9 &)
= - d L=
SA - BE - G9I(3H) - NIRAY - BAS Ol v e HlRE2
Os8d RA(elz20mBad) OtAE ML
JISAt 120,000,000 * 14! 120,000
Os8d tEel(s2365H) OtAZ ML
JIZA 80,000,000& * 14! 80,000
Os8d stEe(sE3085d) BATMLRD]
S A 50,000,000& *14! 50,000
O30 uitskolgz 212 oAz &
M LI B A 120,000,000 * 14! 120,000
O+ SHe(sZ3BaH) OtAZ IML
JIZA 120,000,000& * 14! 120,000
ORAH gdel(sE015H) OtAZ IML
JIZA 200,000,000 14! 200,000
ORAH AX2|(2lZ2aH) OtAZ GNP
JISAt 120,000,000 * 14! 120,000
OHHArH HAR|(HEZ1RSH) BARM LD
ZAl 70,000,000& *14! 70,000
OFS(KLETWBHSH) BATMRI|S A
150,000,000& * 14! 150,000
OctAsHEZXEEH 212 EATMRI|S
At 100,000,000 * 14! 100,000
O0l4arH Zate|(2lE2UsH) OtAZ SN
Jl & =2 HUISA
200,000,000& * 14! 200,000
O3J18 SUel ANIHNEZ SR EUIZSA
150,000,000& * 14! 150,000
OzZ2+H ga2(2=18E5H) SREUISA
100,000,000 * 14! 100,000
OQry ™ ARA2|(21=2015) SPAUISA
45,000,000 *14] 45,000
Oz+9 g32(2E73) TEAMH ZHISA
100,000,000& * 14! 100,000
Oty SE(HTZ1025) AFHA YIS A
100,000,000 14! 100,000
Ox=EY tHEc(HZ12SH) AFHEHIS A
60,000,000 14! 60,000
OCtatdH ch22|(2|S2065) AFHEHIS A
45,000,000& *14! 45,000
OHHArH IM2|(5E3095) AFHAHIS AL
45,000,000 14 45,000
Ogad S22 o2t = &XI(F2ENO
AF) 128,000,000& * 14! 128,000
Ol SHs &2 24Dl & ==HA
700,000,000 14! 700,000
OZ==d L==E2 HIEH 2HD| & ==Al
A 125,000,000& *141%23] 250,000
03 Al S CHHI 306,720 414,505 A107,785
O&E=2 #X2= &Hl Lxt 288,000
—C2FH L W=7 HHILIH(HSR)
800,000& 50+ 10 40,000




S AT
M £2 RAA(DELER/ER)
SR AR H SHEZZ AY (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
—HE&Y, YA HHES ZHl G 248,000
WS 2 800, 0002 «2CH*30 48,000
gz 800,000 *5CH+50 200,000
OANZE ¥ SHEZZ MH 2823 A
20,000, 0002 *407H 2-+0.63/100 5,040
OANE ¥ sHEEZ =7 ZHISA
20,000,000 *40JHA~*0.63/100 5,040
O3718 #Ecdl 472 A HMSA
500,000,000 *141x0.72/100 3,600
OAE & sHEEZ 2sEs
5,000,000 *80JH A+0.72/100 2,880
OAIDH & ST SAt
2,000,000& *150a*0.72/100 2,160
405 KHoHF S| 92,000 112,000 /20,000
01 ML ESFSHI 92,000 112,000 /20,000
ONexg=E =23 04 92,000
—EdHE MEI(&Y)
4,000,000 *15CH 60,000
—1E H&I(&E) 8,000,000 =4 CH 32,000
HZE(EHE) X & E= 2,113,001 1,685,500 427,501
401 AlZHIZ S 0HbI 2,113,001 1,685,500 427,501
01 AlZH| 2,109,771 1,681,972 427,79
OsHs 4 208 €X &€ RAE=+
24,000,000 1970 4 456,000
OINZS(EAS) €X & 2=+ 1,663,771
— &YW IIZS LEDNA A (IO 0l &
) 4,000,000 %14] 4,000
—CHAIG OIS RIS HH| (LRI
&) 9,000,000 %14 9,000
—orEE Aot Jt2S AXI(FEE0 0L
) 10,000,000 * 14! 10,000
—ChH S| SIMWUXE LEDEY A XI(
FRIFO0{0f ) 9,000,000 14| 9,000
— AR HLELHES LRSS
= WHSAH 5,500,000 * 1352 742,500
— S0t AE~eE N S 2II2S WH3
At 7,000,000& x12= 84,000
—GFA EE2, ZSUZH~SF XIS
T LSOIRSF WUAHSA
5,500,000& *27=+99.28/100 147,431
—25E LED 205 WS AHSS)
1,200,000 25074 2~*99.28/100 297,840
—JI2S FHEZ OHA
2,000,000 *400H 2~ 80,000
—-JIE2S(EoS) S2%A £2s |
= 100,000 %1, 180K 118,000




SA: ALY
I T2 RAUB(RELSF/ER)
2Rl A 2 SHEZZE A (SH9 H2)
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
—C% JI2S HEI(LYE) nil
4,400,000 %307 2 132,000
—9F0, S50 FAUZY |A2S
20,000,00084 %14} 20,000
NP=E 3,230 3,528 ~298
OJZE HXUBA L SNESH 3,230
—AFA H22, BSM2H-SF G
T LEIIZS DHBA
5,500,0002%272%0.72/100 1,070
—25 LED 2OtS JHAl SAHEH)
1,200,000 25074 A#0.72/100 2,160
(D)X Bt E2 ALY 710,000 700,000 10,000
= 355,000
Al 355,000
401 AlEHIL S OHYI 710,000 700,000 10,000
= 355,000
Al 355,000
01 Al&ZH] 710,000 700,000 10,000
OO0l4H XIS2l(21Z20258) HM LRI L HHi
2 HHIZA 180,000,000 %14} 180,000
== 90,000
Al 90,000
OX40 A8232 &S YR8 IF
=N, 200,000,000 %14} 200,000
= 100,000
Al 100,000
OF40 3232 (SEN1SH) OtAZ GIM
JIZB A 120,000,000 %14} 120,000
== 60,000
Al 60,000
O=&0 WHS121(HT1028) 42 FHIZBAH
100,000,000 %14} 100,000
= 50,000
Al 50,000
OSHae 22| (2122028) OtAR SIM LD
=N 60,000,00024 %14} 60,000
== 30,000
Al 30,000
OR4 222 2X3(21T20R08) T2AHH
HHIS Al 50,000,00084 %14} 50,000
= 25,000
Al 25,000
=B/ 2,200,000 2,200,000
401 AlEHIL S OHHI 2,200,000 0 2,200,000
01 Al&ZHI 2,200,000 0 2,200,000




S AT
M £2 RUB(LEYSR/E2)
SR A R SHEEZ ALY (SH9 H2)
SN - ZB - C9(B) - MRAY - BES il &k e HlmS2
OSFHEMAEALASAIE FHEZ SEIA
150,000,000 * 14! 150,000
OUBS gi= AN 2 XS (3IEDAZ
&x) 1,500,000,000 & 14| 1,500,000
O2+H ERZ| 2H0I2 d32 dAE=Z(
TE5S M) B A ZAL
80,000,000 * 14! 80,000
O&%ds JelUXl & =HSPSA
220,000,000& 14 220,000
OZIIS MEADIEl SIFDIZ SXITA
200,000,000 14! 200,000
O2+H RE0IE =AY LT Z(2E58)
SZIAS 50,000,000 14! 50,000
ARAATT] T2 A 200,000 200,000
401 AIEHIZL 28I 200,000 200,000
01 Al&Hl 200,000 200,000
OXAHEE| Moot eX MAE2 -
200,000,000 14 200,000
oiZEg U ORIFR ZHA 1,000,000 1,000,000
401 AlEHIL 2] 1,000,000 1,000,000
01 Al&H| 1,000,000 1,000,000
OYZE YT OB ZAAL
1,000,000,000 3 * 14! 1,000,000
E0ESE E2H4 100,000 100,000
401 AIEHIZL 28I 100,000 100,000
01 Al&HI 100,000 100,000
OZE2H E0E32 FHEZ2(5E3095)M
E3A JlE & HAIEH 29
100,000,000 * 14! 100,000
(2)IHE1 TATHHRIE N A X7 Hb| 2,000,000 0 2,000,000
Xl 1,000,000
& 300,000
Al 700,000
401 AIEHIZL 28I 2,000,000 0 2,000,000
Xl 1,000,000
= 300,000
Al 700,000
01 Al&HI 2,000,000 0 2,000,000
ONE1 IATHMHRAIEIME X HHIAL
2,000,000,000& * 14! 2,000,000
Xl 1,000,000
= 300,000
Al 700,000
CREE 22 70,448 66,527 3,921
SFMEE 2e| 44,000 32,000 12,000
201 L2 | 14,000 12,000 2,000




S AT
M £2 RAA(DELER/ER)
gel E2EE 2 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 At22telt] 14,000 12,000 2,000
O=YIIEE 88 TN B
12,000,000 * 14| 12,000
O=2Z /ML ot EXE S M= 2,000
—=3FMA & BEXIE S
50,0002 *40K 2,000
401 AIEHIZ R 0HYI 30,000 20,000 10,000
03 AlE220HHI 30,000 20,000 10,000
O=B/ME 5 =22(£2) 30,000
—SEEY 500,000 *30Z X 15,000
—dAEY 500,000 «30& X 15,000
=84 Sl 26,448 34,527 A8,079
101 21AH| 25,998 34,077 /8,079
04 JIZtN2Z2XNS 2= 25,998 34,077 28,079
O=84 AHE(ds) & E2EE L2
Iy 80,2402 x2&* 1622 *13] 25,998
201 er23| 450 450
01 At2t2ltl 450 450
On=st(¥a3#) 450
—25= 150,000& 1 150
—&et=s 200,000& *1 200
—etst 100,000& 14 100
A2= 2l 401,000 772,000 A371,000
dgs2el 401,000 772,000 A371,000
201 er23 | 363,000 354,000 9,000
01 At2teltl 1,000 0 1,000
OAL=(0/4) ZHIA ARES o242
1,000,0002 %14 1,000
02 S3=gHl 362,000 354,000 8,000
OAL=(014) BHlA RALS
2,000,000 *14] 2,000
OAg=(0l4H) BHl 89
360,000,000 * 14 360,000
401 Al HIZ 2018 23,000 403,000 A.380,000
01 Al&H| 23,000 400,264 A377,264
OAg=(0l4H) HIIZ20F RIS+
23,000,000 x 14 23,000
403 AXIEHMSAH=201d 15,000 15,000
02 S7I2S0 U H=E 2 EAIEI 15,000 15,000
OooltAHEs =2+ FE=
15,000,000 * 14 15,000
NEA SN (SELXEMNL/XNLALZAI) 9,652,851 10,113,851 A461,000
= 1,340,000
Al 8,312,851




SA: AT
M NG ENL(FELXNANL/XHLCAI)
el XS EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
KIS 9,080,251 9,222,251 142,000
= 1,340,000
Al 7,740,251
FoI=JAAH 6,400,251 6,542,251 A142,000
201 fer23| 7,600 6,600 1,000
01 AtR2t2|HI 7,000 6,000 1,000
OSHs FU=2AAY s 23(2
XtH, Zele ) 3,000,000 %14 3,000
OAMDtE, SEE2 EERI MEE
2,000,000& %1 2,000
O+ Ho-sHWAER LA AEE
2,000,000& %1 2,000
02 S3=gHl 600 600 0
OYE Sostal o Q4T MIIASR
50,000& * 122 600
305 HHal= S 651 651
01 that=sS 651 651
OR0ISS(MER)XS(HARLHRALS
K| 2120097 +£46837) 651,00021%1A! 651
401 AlEHIZ 201 6,340,000 6,485,000 A145,000
01 Al&H| 6,327,436 6,470,204 A142,768
OArR FUXHAE
4,000,000 *5009H 2 2,000,000
OB A sBIHEAE
30,000,000 *14! 30,000
OFZA~NE2} HBEZ HEBAHER)
1,900,000,000& *141+99.64/100 1,893,160
Oues 48 IXNY T2 ZHIA
200, 0002 *500m 100,000
Odlds 98 0S8t 212 WEIHMS
At 200,000,000& *14] 200,000
Oxgs ZHZ OLAZHMRIIBA
3,000,000 *30a 90,000
O2dS M= 22 B2 ZHISA
1,000,000 *150m 150,000
OAAE AEE(SH, 2, =2 ) 2
== 74| 30,000,000 *257H 2~ 750,000
OARL Fol=AA(SXH) 764,276
—Hi== HHISAH
30,000, 0002 *97H 2-*99.28/100 268,056
—sZ & 0=tz FHISA
30,000,000 *5J1 2x+99.28/100 148,920
—SHEXISA
50,000,000& *141%98.92/100 49,460
—AHEHIS A
30,000, 0002 *57H 2-*99.28/100 148,920




SA AL
M NG ENL(FELXNANL/XHLCAI)
Sl NS (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
—OFAE HM2I|BA
3,000,000& *50a*99.28/100 148,920
OJt&2s E30jel HIIESHH 212 &
ZEHISA 150,000,000 * 14! 150,000
OBXS SN 22 MY S2TIIA
400,000 *500m 200,000
03 Al 20HHI 12,564 14,796 N2,232
OARD ZOI=2AN(SX) 5,724
—Hi+2 FHIZA
30,000,000 *90H +0.72/100 1,944
~52 9 0120 FHISA
30,000,000 *5JH A+0.72/100 1,080
_Ol-j-l /\-iilg/\l,
50,000,000 *14!x1.08/100 540
— AR RIS A
30,000,000 *5JH +0.72/100 1,080
—0tA2 IURIISAL
3,000,000 *50a+0.72/100 1,080
OFF-DB HHE2 NHEBAHER)
1,900,000,000:2 *141%0.36/100 6,840
402 2IZtA=01d 52,000 50,000 2,000
01 QI XS AL E R (K THE) 52,000 50,000 2,000
Oliss/2 E(2xs 3%)
5,200,000 *100H 2~ 52,000
(D)EAHANEERX 2L 10,000 10,000 0
< 5,000
Al 5,000
401 Al HIZL 201 10,000 10,000 0
= 5,000
Al 5,000
01 Al&H| 10,000 10,000 0
OFAHANE==A2e]
10,000,000 * 14 10,000
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